
Conversion Facts:
1 Belgo (b) = 3 Whipple nuckets (wn)

1 Furmpaling (f) = 5 Whipple nuckets (wn)

4 Cluss (c) =  7 Furmpaling (f)

6 Stiggle (s) =1 Cluss (c)

1 Treslum (t) = 10 Stiggle (s)

8 Gruven (g) = 3 Treslum (t)

5 Orsip (p) = 2 Gruven (g)

1. Convert 70 Gruven to Orsip.


2. Convert 48 Treslum to Gruven.


3. Convert 84 Stiggle to Cluss.


4. Convert 100 Cluss to Furmpaling.


5. Convert 10 Belgo to Furmpaling.


6. Convert 25 Belgo to Cluss.


7. Convert 25 Belgo to Stiggle.


8. Convert 300 Orsip to Stiggle. 


9. Convert 1 Belgo to Furmpaling.


10. What is the larger unit, Belgo or Furmpaling?


11. Convert 1 Cluss to Gruven.
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12. What is the larger unit Cluss or Gruven?
Conversion Facts:
1 Belgo (b) = 3 Whipple nuckets (wn)

1 Furmpaling (f) = 5 Whipple nuckets (wn)

4 Cluss (c) =  7 Furmpaling (f)

6 Stiggle (s) =1 Cluss (c)

1 Treslum (t) = 10 Stiggle (s)

8 Gruven (g) = 3 Treslum (t)

5 Orsip (p) = 2 Gruven (g)
1. Convert 70 Gruven to Orsip.

2. Convert 48 Treslum to Gruven.

3. Convert 84 Stiggle to Cluss.

4. Convert 100 Cluss to Furmpaling.

5. Convert 10 Belgo to Furmpaling.

6. Convert 25 Belgo to Cluss.

7. Convert 25 Belgo to Stiggle.

8. Convert 300 Orsip to Stiggle. 

9. Convert 1 Belgo to Furmpaling

10. What is the larger unit, Belgo or Furmpaling?
Furmpaling
11. Convert 1 Cluss to Gruven.

12. What is the larger unit Cluss or Gruven?
Cluss

